[ Efficiency vs vertpos |

-
o
o
(]
>

[
>
>

0.5

0.45
0.4

' TR
gt &ﬁﬂ;ﬂ';;ﬂﬁ;**' '++ AR
h L | I

L |-++

1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase

Efficiend —— pQm_ckF_TTtest125xNEW

N
=
[
>
%
>
>

o
e
Q

ettici

Ratio

0.5

0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05
Vel

[y

0.95!

30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o
E
2]

Y
>

lency

2
=
[}

Ratio

0.5

0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05]

.....................................

...............................................

_uf_lll|||||||||||||||||||||||||||||||||||||||||||

1.0

iy

S S
)
T
i
T

10 15 20
Sim. PV z (cm)

o
a -
o
o1



	Contents
	Page 1


